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110 ) HAHABTHBREERIRAT AL —HEDRAKI T EHS (A) tost of
goodness of fit (B) test of independence (C) test of homogeneity (D) test of dependence

(E) none of above.
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12. ( ) Sampling plays a critical role in research design. Conducting research using random sampling

(10)#1- K 2/ L 338 4 £ RRA

methods results in a representative result. Which of the following is not a random sampling
method? (A) Cluster Sampling (B) Systematic Sampling (C) Simple Random Sampling
(D) Quota Sampling (E) None of Above.
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Zza.o,os =7.81473 ){23,0.10 =6.25139 ,1’24,005 =9.48773 Zz4,o.1o =7.77943 ,‘{zs,o,os =11.0705
K00 =9.23635  Zyos= 1.645 Zoo2s=1.96 Zo.00s=2.575 Zoo1=2.33
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